
 

82-234B - BRAKE SIDE SWITCH BOX 

 

   
 
 

 
1. LOOSEN THE THROTTLE CABLES TO CREATE AS MUCH SLACK AS POSSIBLE IN THE THROTTLE HANDGRIP. 

2. USE THE #2 PHILLIPS SCREWDRIVER TO REMOVE THE THREE SCREWS FROM THE BOTTOM OF THE SWITCH BOX ALLOWING THE 
THREE SECTIONS TO BE SEPARATED AND REMOVED FROM THE HANDLEBAR.  

3. USE THE #1 PHILLIPS SCREWDRIVER TO REMOVE THE BRACKET HOLDING THE THROTTLE CABLES TO THE LOWER SECTION OF 
THE SWITCH BOX ASSEMBLY. 

4. REMOVE THE THROTTLE CABLES FROM THE THROTTLE TUBE USING A NEEDLE NOSE PLIERS IF NECESSARY.  PULL THE 
THROTTLE CABLES THROUGH THE MIDDLE SECTION OF THE SWITCH BOX.  

5. USE THE #1 PHILLIPS SCREWDRIVER TO REMOVE THE PLASTIC WIRE CLAMP AND THE STARTER SWITCH FROM THE MIDDLE 
SECTION OF THE SWITCH BOX. 

6. USE THE #1 PHILLIPS SCREWDRIVER TO REMOVE THE SHUTOFF SWITCH FROM THE TOP SECTION OF THE SWITCH BOX. 

7. INSTALL COMPONENTS REMOVED FROM THE OEM SWITCH BOX IN STEPS #5 AND #6 INTO THE CHROME SWITCH BOX SECTIONS IN 
REVERSE ORDER AS REMOVED. 

8. PASS THE THROTTLE CABLES THROUGH THE MIDDLE SECTION OF THE CHROME SWITCH BOX AND THEN REATTACH THEM TO 
THE THROTTLE TUBE IN REVERSE ORDER AS STEP #4.  REATTACH THE THROTTLE CABLE BRACKET TO THE LOWER SECTION OF 
THE CHROME SWITCH BOX. 

9. ASSEMBLE THE SWITCH BOX TO THE HANDLEBAR. BE SURE TO PROPERLY ROUTE THE WIRES INSIDE THE SWITCH BOX TO AVOID 
PINCHING THEM. 

10. INSTALL THE THREE SCREWS REMOVED IN STEP #2 THAT HOLD THE SWITCH BOX TOGETHER AND TIGHTEN SECURELY. 

11. READJUST THE THROTTLE CABLES TO THE CORRECT AMOUNT OF SLACK. 

 
 

 

 

 

 

 

82-234C - CLUTCH SIDE SWITCH BOX 

 

TOOLS NEEDED:  #1 PHILLIPS HEAD SCREWDRIVER       #2 PHILLIPS HEAD SCREWDRIVER     FLAT BLADE SCREWDRIVER 

 
 

1. USE THE #2 PHILLIPS SCREWDRIVER TO REMOVE THE TWO SCREWS FROM THE BOTTOM OF THE SWITCH BOX ALLOWING THE 
TWO HALVES TO BE SEPARATED AND REMOVED FROM THE HANDLEBAR. 

2. USE THE #1 PHILLIPS SCREWDRIVER TO REMOVE THE PLASTIC WIRE CLAMP, THE TURN SIGNAL SWITCH, AND THE HORN BUTTON 
FROM THE BOTTOM HALF OF THE SWITCH BOX. 

3. USE THE #1 PHILLIPS SCREWDRIVER TO REMOVE THE METAL WIRE BRACKET, THE PASS SWITCH, THE HAZARD SWITCH, AND THE 
HI/LOW BEAM SWITCH FROM THE TOP HALF OF THE SWITCH BOX. 

4. INSTALL COMPONENTS REMOVED FROM THE BOTTOM HALF OF THE OEM SWITCH BOX IN STEP #2 INTO THE BOTTOM HALF OF 
THE  CHROME SWITCH BOX IN REVERSE ORDER AS REMOVED.   

5. INSTALL THE COMPONENTS REMOVED FROM THE TOP HALF OF THE OEM SWITCH BOX IN STEP #3 INTO THE TOP HALF OF THE 
CHROME SWITCH BOX IN REVERSE ORDER AS REMOVED. 

6. REASSEMBLE THE TWO HALVES OF THE SWITCH BOX TO THE HANDLEBAR.   BE SURE TO PROPERLY ROUTE THE WIRES INSIDE 
THE SWITCH BOX TO AVOID PINCHING THEM. 

7. INSTALL THE TWO SCREWS REMOVED IN STEP #1 THAT HOLD THE SWITCH BOX HALVES TOGETHER AND TIGHTEN SECURELY. 

 

 

 

  INSTALLATION INSTRUCTIONS 
              PART NO. 82-234      CHROME SWITCH BOX HOUSING 

              FOR SUZUKI 2007-2008 C50, C90 

                   2008 C109 
11/18/10 

                              
 
 
 
TOOLS NEEDED:    #1 PHILLIPS HEAD SCREWDRIVER      FLAT BLADE SCREW DRIVER NEEDLE NOSE PLIERS  
                  #2 PHILLIPS HEAD SCREWDRIVER      
 
 
 
 

   
               

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Copyright
©
 2010 by Big Bike Parts, Inc. No part of this 

instruction sheet may be reproduced without the 
written permission of Big Bike Parts, Inc. 


